Bxoanoii cpes. 11 knace. Arumos.
Bapuanr 1.

1. Pemmrte ypaBHEHUE:
a) VI—x =x+1 6) 4" +2"-20=0
B) logs(2x—1) =2 r) /2cosx—1=0

2. PemmuTe HEPaBEHCTBO:
a)9*-7-3"-18<0
6) logé(lO—x) +logl(x—3) =-1

6

3. Berumcnute arccos(—0,5) —arcsin 73

Bxonnoii cpes. 11 kaacce. Anumos.
Bapmuanr 2.
1. Pemmure ypaBHEeHHE:
a) Vx+1=1-x 6) 9*—7-3"-18=0
B) log,(2x+3)=3 r) \/2sinx—1=0
2. PemmuTe HEPaBEHCTBO:
a) 4 +2°-20>0
5) log%(x—3)+log%(9—x) >-3
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3. Brraucaoure
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Bxoanoii cpes. 11 knace. Arumos.
Bapuanr 1.

1. Pemmrte ypaBHEHUE:
a) VI-x =x+1 6) 4" +2"-20=0
B) logs(2x—1) =2 1) V2 cosx—1=0

2. Pemmute HEpaBEHCTBO:
a)9*-7-3"-18<0
6) logé(lO—x) +logl(x—3) =-1

6

3. Berumcnute arccos(—0,5) — arcsin 73

Bxonnoii cpes. 11 kiaacc. Anumos.
Bapmuanr 2.
1. Pemmte ypaBHEHHE:
a) Vx+1=1-x 6) 9" -7-3"-18=0
B) log,(2x+3)=3 r) V2sinx—1=0
2. Pemmre HepaBeHCTBO:
a) 4" +2"-20>0
5) log%(x—3)+log%(9—x) >-3
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Bxonnoii cpes. 11 kaacc. Anumos.
Bapuanr 1.
1. Pemute ypaBHeHuUE:

3. Beramncioure

a) Vi—x =x+1 0) 4" +2"-20=0

B) log (2x—1) =2 r) V2cosx—1=0
2. PemuTe HEpaBEHCTBO:

a)9*-7-3"-18<0

6) logl(lo—x)+logl(x—3)2—l
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3. Beuucaure arccos(—0,5) — arcsin73.

Bxonnoii cpes. 11 kaacc. Arumos.
Bapmuanr 2.
1. Pemmute ypaBHEHHE:
a) Vx+l=1-x 6) 9" —7-3"-18=0
B) log,(2x+3)=3 r) V2sinx—1=0
2. Pemmte HEpaBEHCTBO:
a) 4" +2°-20>0
5) logi(x—3)+10gl(9—x) >-3

2 2
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Bxonnoii cpes. 11 kaacc. Arumos.
Bapuanr 1.
1. Pemure ypaBHEHUE:

a) V1—x =x+1 0) 4" +2"-20=0

B) log (2x—1) =2 r) V2cosx—1=0
2. PemuTe HEpaBEHCTBO:

a)9*-7-3"-18<0

6) logl(IO—x)+logl(x—3)2—l

6 6

3. Brruucaure arccos(—0,5) — arcsin73.

Bxonnoii cpes. 11 kaacc. Arumos.
Bapmuanr 2.

1. Pewute ypaBHEeHUE:
a) Vx+1=1-—x 06) 9*-7-3*-18=0
B) log,(2x+3)=3 r) \/2sinx—1=0

2. Pemmte HEPaBEHCTBO:
a) 4" +2°-20>0
5) logl(x—3)+10gl(9—x) >-3
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